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HTHT= 3397 :

HET1TIEGT H39T 1 S TIaeH] & 91T 3R 377 G&d] & 9ic Hilag
(i) 39 597-97 4 38 F97 & | @Y FT SHHETH & |

(i) I8 J¥7-97 Qi @USI § [@A9If5d 8— &, @&, M, 905 & |

(iii) @S & H Y97 §&1 18 18 % aglasedid (MCQ) @97 ¥97 &&I7 19 TG 20
STHYT T T STIIRT 1 3% & J97 & |

(iv) @U@ T ¥o7 g&I121 & 25 7% 37ld TY-IHIT (VSA) FHR & 2 3% & J97 8 |
(v) @S T T J97 &I 26 @ 31 TF TG-FF0T (SA) JPR & 3 3] & F97 3 |
(vi) TS T H F97 &I 32 T 35 d% -3 (LA) IR 3 5 3! & Jo7 & |

(vii) @UE T H J97 G&I7 36 T 38 7% I 37eTIT STERT 4 37H] & 97 & | I35
JHTT 37eFTT H STl [dHeT 2 bl & J97 7 1597 a1 & |

(viii) Y97-99 # GHT faeheq 757 197 791 & | FEIf, @8 @ F 2 Yol H, GUS T & 2 FoI
4, @8 g &2 Yo 4 a9T @8 & & 3 Yo7 B aRF ldHcq &1 JiaerT 1731 737
g1

(ix) & STTvIH &1 L= Pl G9I5T | gl avqH & = % i, Il s=ger
7 o1 73 8 |

(x)  Dopeie & ITIIT a8 |

WUE &
39 @IS H Fglashedid F97 (MCQ) &, 577 Jcde J97 1 37 %7 & | 20x1=20
1. fogaAi@,-DM(-1,-pFaaRNAR:

(A) 153 (B) 53hE

(C) 253 (D) 41358

2. fogatl A4, x) 3 B(-2, 4) % AW el @1 @S AB 1 Heafeg Afe
C(1,-1)%, A xHT HAH 2 :

(A 5 B) -5
C) 6 (D) -6

o

3. fafafgg s 8 s gy 91 2 2
(A) PE)=1+P(E) (B) P(E)-PE)=
(C) PE)+P(E)=1 (D) P(E)=2P(E)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.
In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) and

questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

: : 22 . :
Draw neat diagrams wherever required. Take 1 = 3 wherever required, if not
stated.

Use of calculator is not allowed.

SECTION A

This section comprises Multiple Choice Questions (MCQs) of 1 mark each.  20x1=20

1.

The distance between the points (2, — 1) and (- 1, - 5) is :
(A) 15 units (B) 5 units
(C) 25 units (D) 41 units

If C(1, —1) is the mid-point of the line segment AB joining points A4, x)
and B(- 2, 4), then value of x is :

(A 5 B) -5

C) 6 (D) -6

Which of the following relationship is correct ?

(A) PE)=1+P(E) (B) P(E)-PE)=1
(C) PE)+P(E)=1 (D) P(E)=2P(E)

14-430/4/1 P.T.O.



4. frafafad so7 T Sl & 50 S £ 2 o g 2
I (T H) 400 — 424 | 425 — 449 | 450 — 474 | 475 — 499 | 500 — 524
gftenl &1 g 12 14 8 6 10
g o shl et € g
(A) 425 (B) 449
(C) 4245 (D) 4255
5. 9 m > ool o @Y H FHH W 33 m T BRT 7 | 39 T W I H
3T>|?ITS[ % :
(A)  60° B) 90°
(C) 45° (D) 30°

6. A Teamd og9e kx2+4x+k HI TH YT 18, A kHI AN B :

(A)
©)

2
4

(B)
(D)

-2
-4

7.  Tgoma sgugl, 9k % —1 3R 3 2, i w1 2

(A)
()

1
3

(B)
(D)

8.  femma wfiehtor x2 — 4 = 01 /% ot /% -

2

39 i

—22
_4,4

(A) had 2 (B)
(C) <had 4 (D)
9. fafafea 7 9 wH-an feama oo 787 8 2
A (x-22+1=2x-3
B) 2x-1))x-3)=x+5x-1)
C) xx+1)+8=x+2)x-2)
D) 2x+3=5
X
14-430/4/1
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The following distribution gives the daily income of 50 workers of a
factory :

Income (in ¥) 400 — 424 | 425 — 449 | 450 — 474 | 475 —499| 500 — 524

Number of workers 12 14 8 6 10

The lower limit of the modal class is :
(A) 425 (B) 449
(C) 4245 (D) 4255

A lamp post 9 m high casts a shadow 33 m long on the ground. The
Sun’s elevation at this moment is :

(A)  60° (B) 90°
(C) 45° (D) 30°

If one zero of a quadratic polynomial kx? + 4x + k is 1, then the value of
kis:

A 2 B) -2
C) 4 (D) -4

The number of quadratic polynomials having zeroes —1 and 3 is:

A 1 B) 2

C) 3 (D) more than 3
The roots of the quadratic equation x2 — 4 = 0 is/are :
(A) 2 only B) -2,2

(C) 4only (D) -—-4,4

Which of the following is not a quadratic equation ?
A x-22+1=2x-3

B @2x-1D)x-3)=x+5)(x-1)

C) x(x+1)+8=x+2)(x-2)

D) 2x+2 =5

X

14-430/4/1 P.T.O.



10.

11.

12.

13.

14.

[ {5

(O EY
THIA 2! 1 916 A, A ags—a;9=32 7, @ :
(A) 8 B) -8

) -4 D) 4

st

tanZ 0 - sin? 0

A 1 B) -1

(C) sec?9 (D) sinZ0

I oh! Tk el R @ A9 H ¥ TRt Tk o o= &1 T &9 Shealdl g
(A) Th=EM (B) T fruws

(C) Tk IrEs (D) TH e

I 1080 =2Xx 3Y x 58, dl (x —y) ST 7 :
(A) 6 B) -1
© 1 D) 0

3l T ATHId H, g O I Teh gd T wTe foieg P H Teh Txi@l PA S 2 |
Ife ~ AOP=70°%, @ £ APOShI M & :

(A) T70° (B) 90°

C) 110° (D) 20°

14-430/4/1
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10. The common difference of an A.P.,if agq— a9 =32, is:
A) 8 B) -8
C -4 D) 4
11 1 - is equal to :
. tan?0  sin? 0 .
A 1 B) -1
(C) sec?0 (D) sin26
12. The region between a chord and either of the two arcs of a circle is called :
(A) anarc (B)  asector
(C) asegment (D) a semicircle
13. If1080 = 2% x 3Y x 5, then (x —y) is equal to :
A) 6 B) -1
<© 1 (D) O
14. In the given figure, PA is a tangent from an external point P to a circle
with centre O. If £ AOP = 70°, then the measure of ~ APO is :
A
[
p
B
(A) 70° (B) 90°
(C) 110° (D) 20°
14-430/4/1 P.T.O.
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15. A+l
I 0-10|10-20|20-30|30—40|40-50 |50 —60
TRERAT | 5 8 20 15 7
(A) 10-20 (B) 20-30
(C) 30-40 (D) 40 -50
16. 21 cm T390 % T 99 H, I Th =9 I oh g I 60° T HIU AN Hdl
g, ol 39 =9 hl AGE B
(A) 1lcm (B) 44 cm
(C) 2—7zcm (D) 22cm
17. Trdl g0 1 Teid@n 98 W@ it 8 S g9 ohl €991 HLA @
(A) H9d T g fog W (B) @ fomgati W
(C) F fergatl W (D) 3d fogati W
18. < 73 3TehId H, IICAABC~A QPR &, A x 1 AM 3 :
(A)  53cm (B) 46cm
(C) 23cm (D) 4cm
14-430/4/1
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15. The median group in the following frequency distribution is :
Class 0-10 | 10-20 | 20—-30 | 30-40 | 40-50 | 50 —60
Frequency 5 8 20 15 7 5
(A) 10-20 (B) 20-30
(C) 30-40 (D) 40-50
16. In a circle of radius 21 cm, if an arc subtends an angle of 60° at the centre
of the circle, then the length of the arc is:
(A) 11cm (B) 44 cm
© Zom D) 22em
17. A tangent to a circle is a line that touches the circle at :
(A) one point only (B) two points
(C) three points (D) infinite number of points
18. In the given figure, if A ABC ~ A QPR, then the value of x is :
(A)  53cm (B) 4:6cm
(C) 2:3cm (D) 4cm
14-430/4/1 P.T.O.
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97 G&IT 19 3K 20 379FH97 Tq o ST 97 8 | 3 97 130 70 & 577 v &1
STYFHIT (A) T TR B 7% (R) GRT 377 1971 797 & | 37 F97] & T&7 I 19 157
77 %131 (A), (B), (C) 3R (D) & & 7% G |
(A)  AMNHIT (A) 3R Toh (R) GHT Tal & AR b (R), AR (A) i Fal
ST LT 2 |
(B)  3fiehe (A) 3T Gk (R) GHI Hal &, T b (R), ATHHA (A) hl €&l
ST TgT w1 2 |
(C) AMheH (A) T& 8, Wrg e (R) TeId & |
(D) 37 (A) A B, T ok (R) T 7 |

19. 37UFg7 (A): IRaeh TR0 J9 5x + 2y + 6 =03 Tx + 6y + 18 =0 =

R ®9 @ 3% B4 2 |
@ (R) : ﬁ@%?ﬁwmgmaﬁ+bﬂ+cl=mﬁi%x+%y+%=0
¥ rfifi &9 & o 7 A, Ay AL_bL_o g

ag by c9

20. 3UHYT(A): T UTHT hehd W, HEAT 8 U B <h! TRl I (0) % |

7% (R) : T STEWE T ! UTRehdT I (0) BIAT B |
Qus @
57 GUE T 37ld TG-IRI% (VSA) FHR & J97 &, Io/78 Je3ieh & 2 37 & | 5x2=10

21. HCF (306, 1314) = 18 fear a1 8, dt LCM (306, 1314) JTd shiloT |

22. et 9 % =™ AB % R W &1 TRi@ XY IR PQ @i T & | &g
sife 6 XY || PQ ® |

23. (a) @ TS MFHN A, PQ || RS R | fig FRE fF OP x OR = 0Q x OS.

HAYAT

14-430/4/1 Page 10
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Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The pair of linear equations 5x + 2y + 6 =0 and
7x + 6y + 18 = 0 have infinitely many solutions.

Reason (R):  The pair of linear equations a;x+b;y+c;=0 and
asX + byy + ¢9 = 0 have infinitely many solutions, if
ag_b _¢
as by cp

20. Assertion (A) : The probability of getting number 8 on rolling a die is
zero (0).

Reason (R): The probability of an impossible event is zero (0).

SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10

21.  Given that HCF (306, 1314) = 18, find LCM of (306, 1314).

22. XY and PQ are two tangents drawn at the end points of the diameter AB
of a circle. Prove that XY || PQ.

23. (a) In the given figure, PQ || RS. Prove that OP x OR = 0Q x OS.

OR

14-430/4/1 Page 11 P.T.O.
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(b) 2 T R H, LM || CB 3R LN || CD? |ﬁa:qrﬁﬁq%%:ﬁ.

AD
B
M
L
& C
N
D

24. (a) aﬁagcra8x2+14x+3éswa,5§,a‘r(1+%meam
+HIfST |

AT

(b) U fgaTd ague Ta hieTg T8eh Ik — 9 3R 6 7 |

25. ¥ A hiNW ;

sin 30° cos 60° + cos 30° sin 60° — cot 45°

Qug 1

59 GUE § TY-FHIT (SA) FHR & 97 &, 578 Jcd% & 3 3% & | 6x3=18

26. 10 cm TSI 91 TH IA H HIS G I o kg T Uk GHRU AR
A 7 | @ () 7Y BeuEs (i) 6 BouEs % gewa @ hie |
(7 = 3-14 &1 9T i)

27. (a) Toag HINT o g0 6 ofom@ o4 =IgHS o AH-EFH ST AU I9 &

g U HYLh 10T AN Lt & |

AT

14-430/4/1 Page 12
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(b)  In the given figure, LM || CB and LN || CD. Prove that AM _AB
AN AD
B
M
L
2 C
N
D

24. (a) Ifa, B are zeroes of the polynomial 8x2 + 14x + 3, then find the

value of [l + 1] )
a B
OR

(b)  Find a quadratic polynomial whose zeroes are —9 and 6.

25. Evaluate:
sin 30° cos 60° + cos 30° sin 60° — cot 45°

SECTION C

This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18

26. A chord of a circle of radius 10 cm subtends a right angle at the centre of
the circle. Find the area of the corresponding (i) minor sector (ii) major

sector. (Use n = 3-14)

27. (a) Prove that opposite sides of a quadrilateral circumscribing a circle
subtends supplementary angles at the centre of the circle.

OR

14-430/4/1 Page 13 P.T.O.



28.

29.

30.

31.
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(b) AR TH g9 H Hg O, ST PQ 3R P W it 7 Tasi@r PR, S
PQ T 40° T IV sHTCT &1, a1 £ POQ T WY T hifaT |

(a) TCoTd T3 1 SN Hieh, FHIHWT 2x2 + 2x + 9 = 0 °h AT Hd, IQ
3ehT 3fedca B, 1 T |

AT

(b) K % o HH AA i e fey fgema eientor kx? — 2kx + 6 = 0
(o 3R THE 4 @ | I8 4 | J1d I |

qrY ok 52 UAI <hl TS| TE H Bl T3 Th TSl § Teh Ul Aol e
ST 8 | STRrehd STd ShIfoe fob feprer T v

(i) T QT 1 9S8 2 |
(ii) T T 1 91 T2l @ |
(iii) YT <hT ST @ |

fag fiNw f5 2+53 T iy T @, Ifc fem M 8 &6 V3
IUNHT &1 B |

forg shifor &6 -

.2
(tan A + sec A)® + (tan A — sec A)® = 2 [w]

1-sin? A

14-430/4/1 Page 14
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(b)  If O is the centre of a circle, PQ is a chord and the tangent PR at P
makes an angle of 40° with PQ, then find the measure of ~ POQ.

28. (a) Using quadratic formula, find the real roots of the equation
2x2 + 2x + 9 = 0, if they exist.

OR

(b) Find the values of ‘K> for which the quadratic equation
kx? — 2kx + 6 = 0 has real and equal roots. Also, find the roots.

29. One card is drawn at random from a well-shuffled deck of 52 playing
cards. Find the probability that the card drawn is :

i) a red king.
(11) not a black card.

(111) an ace of hearts.

30. Prove that 2 + 53 is an irrational number, if it is given that J3 is an
irrational number.

31. Prove that:

.2
(tan A + sec A)® + (tan A — sec A)® = 2 w
1-sin“ A

14-430/4/1 Page 15 P.T.O.
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39 GUS 7 -370%9 (LA) YR & J97 &, 978 Y3 & 5 37% & / 4x5=20

32. (a) o =AI, S99 9 9% &1 AR 125 cm3 B, & A HoAehl bl HATRL
@ 1A 2 | ITed ST T TR 3T s3I &hal 31 <hIfT |

YT
(b) U 3 Ueh LIl W IRTUd Ueh WP o AR &1 & fGH gHI
S 7 cm % SR 7 3R I il SHATg 3T B & s 8 | 3 H
A 19 <hifT |

33. T& SohgR Tl ol Gl o oI Th UTeh § G e 9 ST =Tl & |
6 99 ¥ T I h Sl o O, I8 Th UH] THHTH T2t T <Tadl & ToreTeh
RIET 2:0 m 1 S=E T 3 H % WA 30° 5 B0 | Fh! g3 8, Toih
Y A 3Y & a1 & [0, I8 4-0 m Hl SR W 4k ST hl {haeH
U T ARl 8 S QW o WY 60° 6 I W Fehl 53 8 | Tedsh afd |
fhaeH vedl it wes Fa Bt ?

34. (a) 3R BD 3 QM HH: BYs ABC 3R PQR &I WifeyshId &, STaf

AB BD
AABC~APQR%,$%@W%%:Q—M.
AT
(b) CD 3R GH %"I: £ ACB 3R ~ EGF % UH @uigHS & f fog D

3R H %A A ABC 3R A FEG 1 YS137i AB @91 FE W oo g | e
A ABC ~ A FEG g, dI g31ise 6 :

oD _ac
GH FG
(i1) ADCB ~ A HGE
85. .ot Tl 1 Tk fmfar =i a9 # 720 .. T2 o 13d 99 H 880 Al
T 1 IITET T 7 | I8 A gC foh Tdeh a9 391G § THaEdH &9 § Th

fafeaa g o afg gt 8, @ god a¥ 1 IcuTe IR Ug |1 9Nl 1 Hd
IcqTe AT hIFT |

14-430/4/1 Page 16
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This section comprises Long Answer (LA) type questions of 5 marks each.

32.

33.

34.

35.

14-430/4/1 Page 17 P.T.O.
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SECTION D

(a) Two cubes each of volume 125 cm3 are joined end to end. Find the

volume and the surface area of the resulting cuboid.

OR

(b) A solid is in the shape of a cone surmounted on a hemisphere with
both their diameters being equal to 7 cm and the height of the cone

is equal to its radius. Find the volume of the solid.

A contractor plans to install two slides for the children to play in a park.
For the children below the age of 6 years, he prefers to have a slide whose
top is at a height of 2:0 m and is inclined at an angle of 30° to the ground,
whereas for older children, he wants to have a steep slide at a height of
4-0 m and inclined at an angle of 60° to the ground. What would be the
length of the slide in each case ?

(a) If BD and QM are medians of triangles ABC and PQR,

respectively, where A ABC ~ A PQR, prove that AB :@

PQ QM

OR

(b) CD and GH are respectively the bisectors of £ ACB and £ EGF
such that D and H lie on sides AB and FE of A ABC and A FEG
respectively. If A ABC ~ A FEG, show that :

CD AC

O GH Fq

(i1) A DCB ~ A HGE

A manufacturer of TV sets produced 720 TV sets in the fourth year and
880 TV sets in the eighth year. Assuming that the production increases
uniformly by a fixed number every year, find the production in the tenth
year and the total production in the first seven years.

4x5=20
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[®] v
Wis &
59 TS H 3 YK 37eqT STETRT J97 & 1578 Gcdeh & 4 37% & | Ix4=12
ThI0T 3AETIA - 1

36. TIIIA B : RIIA S Th ThR F Ha¥ HILAH g Fl &b, Firs AT 374
wfaufaat & faw w@ & foe w8 faweh ¥ 391 uhT = § | DETd wE
YR HT HASR gRT HaTfeld Bid 8, S e hl INEYRT ITeied oid & I HS
o TeeTenl o ToTT YSITd 1Y AT 3T 3cde i 1 TIH Hid 3 |

4-941331 T
FE !

g INEART qed (NAV) fopelt %8 o Ufd IRR 919 Jed o1 Afdfiee shiar
2 | I8 98 g 8 g w fewes el we ol ¥ %e IR Wled @ 3 3=
foreht ®e o &l S=d B |

freafaRad drfcetept ICICI RF3TA Bl o HFAA B8 i T (e g TReard
T (NAV) 1 2l 2 :

NAV (T # ) 0-5|5-10|10-15|15-20 | 20 — 25

g3 wel hi e | 13 | 16 22 18 11

3T BRI o YR T, Ffcrfad gt o IR T

(i) ksl o sgeish a1 hl FH HHT 1 § ? 1
(ii)  3T(hel T HIETH o1 T & ? 1

14-430/4/1 Page 18
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SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1

Ix4=12

36. Mutual Fund : A mutual fund is a type of investment vehicle that pools
money from multiple investors to invest in securities like stocks, bonds or
other securities. Mutual funds are operated by professional money
managers, who allocate the fund’s assets and attempt to produce capital
gains or income for the fund’s investors.

Net Asset Value (NAV) represents a fund’s per share market value. It is
the price at which the investors buy fund shares from a fund company

and sell them to a fund company.

The following table shows the Net Asset Value (NAV) per unit of mutual

fund of ICICI mutual funds :

NAV (in ¥) 0-5|5-10| 10-15| 15-20 | 20-25
Number of mutual funds 13 16 22 18 11
Based on the above information, answer the following questions :
1) What is the upper limit of modal class of the data ? 1
(i1)  What is the median class of the data ? 1
14-430/4/1 P.T.O.
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(i) (a) TIIAA Bl H1 g NAV F1 @ ? 2
CREN
(b) T Bl ST HIeTh NAV &1 7 ? 2

TERIUT AT — 2
37. Togt # Tomie Warsdt o ETEHT HeAmr T9 (RWA) A TIEedt o shiad ursh §
I fosrefl % @W A, B3R C @MT B | 39 @9 @I & d1a9[g, I1h & $9 ool
9 ot 3R 8 | 39T, RWA 3 UTsh H Teh R foiell 1 @HT D &+ bl
HHT fopam | b bl = & E S YuIell & &9 H d9R foham S Hehat
7 |

14-430/4/1 Page 20
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(111) (a) What is the mode NAV of mutual funds ? 2
OR
(b) What is the median NAV of mutual funds ? 2

Case Study - 2

37. Resident Welfare Association (RWA) of Gulmohar Society in Delhi, have
installed three electric poles A, B and C in the society’s common park.
Despite these three poles, some parts of the park are still in the dark. So,
RWA decides to have one more electric pole D in the park. The park can
be modelled as a coordinate system given below.

14-430/4/1 Page 21 P.T.O.
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ITYTH TSR & IR R, Feaferfaa st & I €
(i) @H CH AE FTR ?
(i) dTeh % M O ¥ @YW Bl gt fopal B 2
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On the basis of the above information, answer the following questions :
i) What is the position of the pole C ?
(i1)  What is the distance of the pole B from the corner O of the park ?

(iii)) (a) Find the position of the fourth pole D so that the four points
A, B, C and D form a parallelogram ABCD.

OR
(b)  Find the distance between poles A and C.

Case Study -3

Deepankar bought 3 notebooks and 2 pens for ¥ 80 and his friend
Suryansh bought 4 notebooks and 3 pens for ¥ 110 from the school

bookshop.

Based on the above information, answer the following questions.

(1) If the price of one notebook be ¥ x and the price of one pen be ¥ y,
write the given situation algebraically.

(i1) (a)  What is the price of one notebook ?

OR
(b)  What is the price of one pen ?

(iii) What is the total amount to be paid by Suryansh, if he purchases
6 notebooks and 3 pens ?
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